
Version I 2011

ชุดสถานสีนามเด็กเลน่ส าหรบัเด็ก รหสั FSE-568  ชุดตะลยุปราสาทโบราณ

1. Over view

                

                                                 

2. Safety Zone 3. Protective mat(optional)

ขนาดเมือ่ประกอบแลว้ไมน่อ้ยกวา่ 1030 x 860 x 480 เซนตเิมตร

NO. Name
picture

size(mm) Color/Spec
Unit weight(K

GS)
QTY

Package
s

1 roof Ф1500*1500
 Green Orange 

LLDPE8446 MEET FDA 21 
CFR 177.1520 STANDARD

50 2 2

2 H1.2M slide 2600*580*250 green LLDPE8446 30 1 1

3
tiger
 door 


1100*940*280 green LLDPE8446 9 1 1

ชุดเครือ่งเลน่สนามส าหรบัเด็ก ประกอบดว้ยชิน้สว่นดงันี ้

คณุลกัษณะชุดเครือ่งเลน่สนามส าหรบัเด็ก
ชดุสถานสีนามเด็กเลน่ส าหรับเด็ก  รหัส FSE-568  ชดุตะลยุปราสาทโบราณ

1 of 5



Version I 2011

4
cap
door

920*750*330 Orange LLDPE8446 6.5 1 1

5 H1.2M double slide 2670*1280*530 Orange LLDPE8446 60 1 1

6
 door 


1050*940*300 green LLDPE8446 10 1 1

7 H1M  slide 2000*580*240 green LLDPE8446 21 1 1

8 35° Φ640*920 red LLDPE8446 13 1 1

9
Slide tube 
straight

Φ640*800
off-white shell 

LLDPE8446
16 1 1

10
 door 


Φ640*1030 red LLDPE8446 20 1 1

11
 door 


Φ760*1260
off-white shell 

LLDPE8446
22.5 1 1

12 35° Φ760*1100 green orange LLDPE8446 16 4 4

13 90° Φ760*960
red off-white shell 

LLDPE8446
20 3 3

14
Slide tube 
straight

Φ760*820
off-white shell 

LLDPE8446
18 1 1

15 baffle 1050*940*80 green yellow LLDPE8446 10 2 2

16 baffle 1050*940*80
yellow off-white shell 

LLDPE8446
10 5 5

17 baffle 1050*940*80
off-white shell 

LLDPE8446
9 1 1

2 of 5



Version I 2011

18 baffle 1050*940*250
orange yellow 

LLDPE8446
10 2 2

19 baffle 1300*940*200
off-white shell 

LLDPE8446
12.5 1 1

20 Step ladder 900*300*200 brown LLDPE8446 5 1 1

21 Tree top 1600*1600*800 green  LLDPE8446 9 2 2

22 lotus leaf 800*270*60 yellow LLDPE8446 6.5 1 1

23
Column base

Φ280*190 red  LLDPE8446 1 16 1

24 Steel fence 1900*32*990
yellow Galvanized 
with powder coating

46 1 1

25 frame Φ114
brown Galvanized with 

powder coating
32 1 1

26
7-Shape rail

1000*190*32
yellow Galvanized 
with powder coating

6 1 1

27
1.2m ladder stand

980*280*2600
yellow Galvanized 
with powder coating

14 1 1

28
Connect 5 step 

ladder
1000*550*1000

brown 2.0mm stainless 
 powder coated

22 1 1

29
Connection 5 
stair railing

1000*1020*1600
yellow Galvanized 
with powder coating

28 1 1

30
Platform 

2060*1150*85
brown 2.0mm stainless 

 powder coated
51 1 1

3 of 5

app:ds:frame


Version I 2011

31
Platform 

1150*1150*85
brown 2.0mm stainless 

 powder coated
33 6 6

32 Φ114×2550
coffee

 Galvanized with 
powder coating 2mm

17.85 1 1

33 Φ114×2200
coffee

 Galvanized with 
powder coating 2mm

15.4 2 2

34 Φ114×2000
coffee

 Galvanized with 
powder coating 2.5mm

14 1 1

35 Φ114×2400
coffee

 Galvanized with 
powder coating 2mm

16.8 1 1

36 Φ114×2950
coffee

 Galvanized with 
powder coating 2mm

21 10 10

37 Φ114×2700
coffee

 Galvanized with 
powder coating 2mm

19.6 2 2

38 Φ114×2800
coffee

 Galvanized with 
powder coating 2mm

19.6 3 3

39
ladder stand

1000*32*1480
green Galvanized with 

powder coating
10 1 1

40 scaling ladder 2400*1000*200
green Galvanized with 

powder coating
33 1 1

41
Φ32 fasteners

95*41*47
coffee aluminum 
powder coated 

0.2 52 1

42
7-Shape locker 

55*45*125 Brown 0.2 10 1

43 Feet Set Φ210*50
coffee aluminum 
powder coated 

0.8 4 1

44
Outer-

Hex bolt M10*25 
 Stainless 56

45
Inner-

Hex bolt M6*35
 Stainless 56

46
M10*7

 nut  Stainless 50

1

Column

4 of 5



Version I 2011

47
Ball inner-

hex bolt M10*50
 Stainless 11

48
Ball inner-

hex bolt M10*25
 Stainless 164

49
Ball inner-

hex bolt M10*30
 Stainless 72

50
Ball inner-

hex bolt M10*35
 Stainless 10

51 Expension bolt 

Stainless

M10*95
18

52
M10 Washer

M10 181

53 Lock bolt M6 22

1

5 of 5


